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1. m~~fj:
 

fttmg=kD.x ,1£D.x-mlii!$ (x,mm~'.~j~m;y,mm~'~{$~;D.X 'RP
 
D.X = f - f 0 ) EJf~¥U~{*~ : 

Blli 
lit1M' ' 1iIr:pE8Jm~~~E8*4$~~ i}ft~c~ a 0 

J3.k = mg 
D.X 

flJm T = 2;r~m + m, 'R k = mg 
k D.X 

:::::> T2 = 4Jr2 m + 4Jr2ms 

k k 

2 _L D.X 4Jr2
 
=4Jr ,.m ,hg +Tms
 

4Jr2 4Jr2 
=-D.x+-m 

g k S 

2	 21£T -D.X l¥J~m{*lii! (x ,m~D.X ' y *ffI~~MZP::1J T ) ep , EJf~¥U~~~*~~m{* 
~m: 

4Jr2 4Jr2 
T

2 
=-D.x+-m 

g k S 



a ==	 g 
k 

41r 2 

b=­
g 

41r 2 

c==-mk S 

QJl~ms = :b j 

;tt:tJ=t a :F.St:.x-m ~m1*1IItJ=t~~4$ ; b :F.ST2-t:.X ~m1*lIItp~~4$ ; c ~T2 -t:.X 1¥J~ 

1*1II~~Ji§ 0 

Wa:£>-'=:;;::Jg.ft.·2 •	 ~J~~i=iLJjQf(· 

fa == 0.05m 

m£m (kg) 0.05 0.06 0.07 0.08 0.09 

5'j[~It f (m) 0.0930 0.105 0.120 0.132 0.147 

5 ~jl§fM 5T (s) 

1 2.64 ~ 3.05 3.27 3.45 

2 ~ 2.84 3.08 3.30 M+ 

3 2.52 2.84 3.03 3.21 3.43 

4 ~ 2.84 J.:G9 ~ 3.43 

5 2.56 2.83 3.06 ~ 3.52 

6 2.63 2.85 ~ 3.29 3.45 

7 2.56 ~ 3.03 3.22 ~ 

ZfS~ 2.58 2.84 3.05 3.26 3.46 

T (~M) 0.52 0.57 0.61 0.65 . 0.69 

T2 (¥1ft S2) 0.267 0.323 0.372 0.425 0.478 

m(kg) t:.X (m) 

0.05 0.043 

0.06 0.055 

0.07 0.070 

0.08 0.082 

0.09 0.097 

t:.x (m) T2 (s2) 

0.043 0.267 

0.055 0.323 

0.070 0.372 

0.082 0.425 

0.097 0.478 



a= g 
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b=­
g 

4Jr 2 

c=Tms 

PJ1~lm, = :b I 
2;ttcp a mAx-m ~m{*lilcpL~4$ ; b mT -AX ~m{*liltpL~4$ ; c ~T2 -AX B"J~m 

{*IilL~fEe 0 

W~2;::]£!;l.'2• ~i~~~W~)j'(· 

f o = 0.05m 

m.;m (kg) 0.05 0.06 0.07 0.08 0.09 

5ij1Jl~N f (m) 0.0930 0.105 0.120 0.132 0.147 

5 ::x~jt~ 5T (s) 

1 2.64 ~ 3.05 3.27 3.45 

2 ~ 2.84 3.08 3.30 M+ 

3 2.52 2.84 3.03 3.21 3.43 

4 US 2.84 ~ ~ 3.43 

5 2.56 2.83 3.06 ~ 3.52 

6 2.63 2.85 ~ 3.29 3.45 

7 2.56 ~ 3.03 3.22 ~ 

zp:~ 2.58 2.84 3.05 3.26 3.46 

T (~M) 0.52 0.57 0.61 0.65· 0.69 

T2 (¥{1z S2) 0.267 0.323 0.372 0.425 0.478 

m (kg) AX (m) 

0.05 0.043 

0.06 0.055 

0.07 0.070 

0.08 0.082 

0.09 0.097 

AX (m) T2 (S2) 

0.043 0.267 

0.055 0.323 

0.070 0.372 

0.082 0.425 

0.097 0.478 


